20

u=A|ZHHE
AL

(4.09 ~ 4.13)

ojy
;8
Jio

o o
4 o W P EEDTES Al 2F O
Az (3012 H2J| AReg I (62
= 8% Uge N s ?
SATIER]| At o Bl RSN AR 201
09:00~ 4.02~0.20 [2;;" DR Mo I\ = 8. 04. 09.(2
3y e | B | T e O
g:5p | = BHe 05~5.10 (631 13 4By [2033] EEENTIE
Eal £.09~4.11 (32) Am’é’é,’: A=A [2053] °
10:00~ | 305 43 dpsEn 2ol e 09411 38 AE[}E?: e
10:50 W:a%mgg ENE SH1Z ofdf EhERS | 09-410 28
=8 4l ¥ 55
=L N 1 B S22 |E24 3§
. XEHO0l 3 ° o ol 49z 2 ek
1}.1[].0,, n Pl (3234 (%EUOEE.‘% o |28 H
20 (”-’FCHSHOE(:? gee7d 14) HATIAE) sEamEs AfEl| o 2O
M=o 23l a1 ofufs 21
12:00~1250 2512) A 2l olH5i 3t AY2A of3
O_‘ =
13:00~ (xyemsnpgy| | 1 8 B NTHD
13:50 — z (£ HZD HEE) RSB SRR
9’ Al 25 8
12:00~ | e s 2|9} 4
14:50 - @142 4B
(x% 29 2EM0l3 Helsel gt Rt
15:00~ HE0 14) (2, A 57y e gy} 2y NSER PR o
15:50 , MEl3) | (rEem = o u A
wse rys R 2B T2 (s_@%wg .
16:00~ Holag 1) | (2w D SR | L
16:50 o &z %) T i:,( da Hojol £ il iy
1 (EOMII}_%E}W 42to ety is\zxﬁf}
1770500 ME) . oldE A o |AEHA EED} 5
; (5)'%75%1:4: | 3yum ol
18:00~18:50 oA LE) p@-‘ig'z.' HFL-’F— (K_;LIEH% S
19:00~ 1Bl ABEXLIER) St ARHCHEN
20:50
2 1 =
o ¥ o | 4 =
=) (%‘) 32 J_C! —
=
A157] A2 A 2425262 = o
720l &;o.; e 374| 1 (174 2|72 (83|92
§I1J| DIEHH;]J_E@ 69 9127 42 | 39 = 3|EP%E_+_UO, H D
MN=EZ3HAHAte ! 100 69 94 5 0
X|UFH|/§$J—+j }\‘“)“3} } 101 1 1 O
e 38 714413 16 | 84
2 0l 0|7
of ot A 29 5 111 2
15
2 915
12111




(@)

ol ol 1) 8 Al 2} Teax
(@)
ol ol 1) 8 Al 2} Teax

x4 oy | K1) | SSRRICIIFEDAR HI2)| A8 y = 2018. 04. 10.(3t
NS dwm] H I[agﬁuﬁllm’g 11|1J|[g|nal|11§]xlm§ ahal%mgumm TEHATIE  [gE owumz) TR 2018. 04. 11.(
A2t 1Y% UEE | IE¥ U3S . 12] 2033 = WAIR|CIE0RARY)| HI2)| ATy == . 04. 11.(=)
! S22 8510 | AT 3 | 8B40 B3R st I'J’é*[g‘ogiﬁi'].’s.ol s mxﬂ?ml [BEIBQ] e mml[glllatlti'§A='1])1ljwg ﬁqtﬂ%}gmmm LLlahi
. : 05510 637 | A09-L1162) | 409411138 | 409010 22 Ak wanet 138 LS2 : e
09:00~ | A3 gz ! 326-4.27 (9% K 4.[]2~4.2[]L[I2-’.5|_x}] ,m?g' L 153 43y 188 4%y
Ug 5[] [ oiAlD 305 51[] [B-rxl'] [l 0l
: Selgpy 2342(1) e o 09:00~ PERY 09~0.11 (32) 4.09~4.11 (32
d=o| Holct 09:50 ey 2o g9
. ~ HIAE o ~ c=/l=
REn Nas wa o il b K=ol HAAE
e (£3928%) | d93 (ZAode) | AFHARM | FNF2Y 10:00~ g5 o it 2 st A2(0id iﬁ@g%Hﬂ MK FEHE o7
11:00~ o ° (i—ii%%m% (Mol c2 tjF) | @ &9 HAPQ‘H_J 10:50 85 g elgdns = N A &
1 HolEo ASZEHO) ol S I R 3
11:50 ZYEY 11:00~ Chla g3 - (2MY Aty pa) | (EAEEE 3_1;1%)
1200-12: 11:50 (B3R A
b E *4 REEEEEY
13: ~ oj 2} x| atx 12:00~12:50 =
1990 | | 42 us . < d
S 52 Dl 244 13:00~ )
10:00~ %% o = 13:50 HE Eas o GELEE
14: e | (CEEE D 458 dz w4z cao g ey | MM AR 23
50 | (m=gsm og) | (1BEE Lﬁﬁ; e eed de 18:00~ | 298 8% | By = ()
15:00~ c A Saa 14:50 | 9808 (EEeEOSIEE
15:50 HANR(2) gH5 8B o o o o 15:00 Uy e 43¢ a2z
H2az (EaAE2) ¢ 8 17 O (a3 Ta 5 2N (Fai2s Aoy (EARITESA
16:00~ | o83 ygp | (PHEEE 15550 | uraw | X %92’1'3 B mrewny
16:50 (% ojtsa} o4l (327 A7 i .y -
SEPENE 16:00~ 190
17 [][] = ATTO 16 5[] (_II:_ §|74‘J—'_’- %’El%g) Mo ol Am
175[] 2T x T )\E-l_E_EJ_/FE
_ 17:00~
18:00~18:50 17:50
1296[]5[]0~ 18:00~18:50
' 19:00~
n = Al & =t 0:50
ot P = o2l = = o im =3 Al & =
(Z)|3= |42 |52 (62|72 |82 |92 of H 1 I/} = - 012 = = =
& A 374 =73 |83 |93 PIE [T a8 < T (@) [3z]42 T =
=] = = a e}
s . 1 |17 ]49[127[42(39]94|5 | 0 |0 = 5 = 52|62 72|82 |0z piEffa ¥ *
S INE S e 50 69 H1501 sialeid Wy 697 1 11747 (117|831 ]28]92| 4|0 | 0
ENEEE R NN NAR H20] Al73elS X if 700 69
N=Za el AASHE | 38 2 IENEEEE: 1684
ELEERE 29 2 11ols T4 EEEES NENEERE 10TL 1 |17144180] 7 | 2
e B s 37 I R EPERE 8 2 [11]15]5 | 1|4
1011 [11] 2 |1 09 171957




2 2w Fw A 2 Huw 2 2 n = Al 2 Euan

2018. 04. 12.(2) 2018. 04. 13.(2)
] ) BHACEO | DT SH2STHE S0 O0ITS A1 SAR 2 =N e ] ) WHACIEOAAT | DT SH2STE AEWZY OMWS | A1 CEXAELE
83 (3012) 130621 [2012] (30421 183 3012) (30621 [2012] e
Az 1Y% Uze 1¥%: Uze 153 15N 15 ozt A2t 158 Uze 1Y% Uze 153 15N 1Y 9H
326027 (9310 102020 31N 112~413 (22) 112 (1] 326~0.27 (93X 102020 31 112-413 [22) 113 (12
09:00~ 9 = 0o YYAT 2HAL(2) o7 9l £ o7 ol £ 09:00~ o7 ol =
09:50 Sepy EES BL3 55 09:50 ASofRIZ Bk 4l 3 5%
SeUAM BEW| 2 | 3372 B2 MY 2 & 14
10:00~ Nes S . 10:00~ 4% MIEY T} |CTHASE,
[1]0[]:%0 (£ 3937|5228%) | Zdgom ssefy NRFABBINABY &Y [1]00:%0 ot %3 o ¢ ¥ X523 o
ZLAROIE 0 7 ~ = TR 7
4;?55%&} 495 14 (BFU2Ezss D4) | (0042 7R %) | (cgq0m ogonzel)
11:00~ ook g (D215 23) | (masanus gom) 11:00~ 25 Mol o 3na
11:30 e SeTTET e 1:50 (BRI I2 7Y HefE)
12:00~12:50 3 A 12:00~12:50 3 N
1300+ VIR s o e o o e IR0 AT 78 ol 13:00- 9875 IT=HE doma s | AMEEY HEAY o
14:00~ oo R A8 g sl yuy 12:00~ 538 80§ 14 3%
TR | (smtlansens gepm|  ( JEFEAR TYIUS 3 AENY) | (RCRRIEEE HACRRN T Nz Be s n CHEL R L SEEER LR
050 |(#=3episnsere germ| | )| (=30 33 NERlR) | pRckens ) 1180 < )| (ceavd msdy) | )
: ' 2 g
15:00~ SANE(2) f3o2 202E 22| M8 | myuo geyyn £UZY 15:00~ CRlR MAMBRIE| 9o Mso| T
15:50 ST TS/ SET 15:5[] HO[EO‘ %DJ—,—} ‘?’E[‘E‘Q (=1 2| A= M= L
A2 o 9 % HaEA A2 FEN
‘1A~ W8 A VHE AT |27 ‘1A~ (HZZM) (e Isq
1(13'(:‘.[]:2[1 (& @\Zm"ﬂam) EEECHER EERELInES ”13'60:20 (FE39E 22) | (assiecnzon noxm)
17:00~ 17:00~
17:50 17:50
18:00~18:50 18:00~18:50
19:00~ 19:00~
20:50 20:50
2 8 N4 8 # T 8 N4 8 #
. olgl = =2 ] B . olgl x 2 = -
o8 = (2|32 [42(52]62|72[s2 oz piaff ey ¥ = o8 = (%) |s2[sz[s2[62[72[s2 |0z piefgiz]an] ¥ ©
8 3 282| 0 | 0 |71]33]66]105 52|00 & 5] 431] 0 | o |75]|76|115[134|23] 8 [0 | 0
M15J siaeld otE 69 69 M15J| siaeld tE 69 69
M2J1 MRrPEXME 100 16 | 84 M27 ARPEXME 100 16 | 84
HE0=2 OloHuA 21 7 10| 4 ME0=2 OlofA 21 7 10| 4
HD| H2AD 9 SREA 2R 92 2 [26]40[17]5 | 2 Ml CREQAMDE 241 6 | 6989|4623 8
0 0
0 0




